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$O�KDPGX OLOODKL UDEELO� µDODPLQ�� SXML� VHUWD� V\XNXU� VHQDQWLDVD� SHQXOLV�

SDQMDWNDQ�DWDV�NHKDGLUDW�$OODK�6:7�\DQJ�WHODK�PHPEHULNDQ�UDKPDW�GDQ�KLGD\DK�

1\D�� VKDODZDW� VHUWD� VDODP� SHQXOLV� SDQMDWNDQ� NHSDGD EDJLQGD� EHVDU� 1DEL�

0XKDPPDG�6$:��VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�SHQ\XVXQDQ�7XJDV�$NKLU�

LQL��3DGD�NHVHPSDWDQ�NDOL�LQL�SHQXOLV�KHQGDN�PHQ\DPSDLNDQ�XFDSDQ WHULPD�NDVLK�

\DQJ�VHEHVDU�EHVDUQ\D�NHSDGD�

�� $OODK�6:7�\DQJ�WHODK�PHOLPSDKNDQ�EHODV�NDVLK�GDQ�SHWXQMXN�1\D�VHKLQJJD�

GDSDW�GLVHOHVDLNDQ�ODSRUDQ�7XJDV�$NKLU�LQL�

�� .HGXD�RUDQJ�WXD�\DQJ�VHODOX�PHPHQXKL�NHEXWXKDQ�KLGXS��SHQGLGLNDQ�PRUDO��

PDWHUL�GDQ�QLODL�NHKLGXSDQ�NHSDGD�SHQXOLV�

�� %DSDN�'U�� $FKPDG�5L]DO�� 6�7���0�7�� VHODNX� SHPELPELQJ� ,� GDQ� ,EX�'U��

+XVQHQL�0XNKWDU��6�6L���0�7��VHODNX�SHPELPELQJ�,,�7XJDV�$NKLU�LQL��WHULPD�

NDVLK� DWDV� LOPX�� PDVXNDQ� GDQ� ELPELQJDQ� \DQJ� %DSDN� GDQ� ,EX� EHULNDQ�

VHODPD�SHQJHUMDDQ�7XJDV�$NKLU LQL�

�� ,EX�&DK\DQWDUL�(NDSXWUL��6�7���0�7���VHODNX�GRVHQ�ZDOL�SHQXOLV�

�� $ULI��:LFDN��*KXIURQ��$OIL��WHPDQ�WHPDQ�NHODV�(/�������GDQ�WHPDQ�WHPDQ�

%LRVSLQ�/DERUDWRU\�\DQJ�WHODK�PHPEDQWX�GDQ�PHPSHUODQFDU�SHQXOLV�VHODPD�

SHQJHUMDDQ�7XJDV�$NKLU�LQL�

�� 6HUWD� VHPXD� SLKDN� \DQJ� WLGDN� ELVD� SHQXOLV� VHEXWNDQ� VDWX� SHU� VDWX�� DWDV�

EDQWXDQ�� ELPELQJDQ�� NULWLN� GDQ� VDUDQ� \DQJ� GLEHULNDQ� VHODPD� SHQJHUMDDQ�

7XJDV�$NKLU�LQL�


